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.= = X & 6,023,609, 387 . 8 S £ TH 49,499,464,120
) & Zt Xt o 4,085,624 ,687 1. OH = TH £ 2,891,756,382
1.8 2 £ & 2 4 X &t 562,232,030 2. 0l Xl = = 4,314,235,026
2. OH 5 TH A 3,188,727,138 3. 0l Xl = ull =3 1,055,072, 381
3. 0l == = 224,968,797 4. A = = 2,328,832,695
4. 0] = ol - 5. O == = 919,946,719
5.4 = = 34,401,982 6.2l A 2 MW (8 s ) 11,560,885,093
6. & = ]l = 75,249,620 7.EZQ0EQHLA(SS) 650,235,824
7.4 = = ol Al 45,120 8. &t | Xt & = 25,778,500,000
(2) X ) N At 1,937,984,700 1. Hl = = g TH 23,221,485,129
1. & = 415,241,247 L8 8203539 2 M -
2. Al = 26,468,992 g &8 A3 2 E N -
3. X = = 18,838,257 2. = 7 5 9 2 XM 3,047,816,855
4. & TH = 1,190,065, 385 3.2l AR M (H 8 5) 20,173,668,274
5. 8 TH = 190,808,947
6. 0l =Sy = 96,561,872 || & W & Al 72,720,949,249
]l = \; Ty 69,581,641,566 || X &
. X = = 16,725,595,000
) = = N\ At 44,273,039,716 .8 8 = I 2 2 16,725,595,000
1. & Xl 627,297,542
2. A = 1,804,073,917 . X = 2l 0] =2 10,845,428,829
3. + = = 571,778,172 1.3 & & & x 1 2 10,845,428,829
4. J| Al & N 175,446,530
5. Xt Ej 2 gt - 31,271,507 m. X = = 3 (881,545,639)
6. #+ Il F H = 7,557,008, 115 1. & N\ Xt &= (881,545,639)
7.4 &4 = o X+ ¢ 75,652,139
8. Al = A At At 33,430,511,794 V., JIetE &2 & 5 H A 178,148,977
1.0 & 8§ 4 8 " 178,148,977
(2) 2 = Xt At 440,065,581
1. &t o] Wi o A 16,224,336 v. 0 H 2 Z2 & 2 (23,983,325,463)
2. A o E Al o 323,542,955 1. 0l ol = u| = 197,162,606
3.4 & F o X & 100,298,290 2.00 H e &2 = 2 (24,180,488,069)
(ZI1=&4 : 671,050,617¢)
I EtHl 782 8 A & 24,266,428,195
g = = 24,266,428,195 || At = =S Al 2,884,301,704
Jl EtHl & & 3 8 A&t 602,108,074
LB =g R (3,976,391,922)
g &A= 28 N4 4,578,499,996
At = Al 75,605,250,953 | & M &% XA 2 = A 75,605,250,953
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